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'Reuteud of 'Pa,-}-.a\

Frauc-\-n ons.

Example

E\Ialua-‘-e: 2xt-§ d
V5o &
' X = 4x +bx-2
Sc\u‘hér\
Neacl +o F-ac-l-cr
| yi = XA3 =4X AL ¥Ex -2

" Graph has x-inkscept ot
X=2, so (x=2) is a factor



-Divio\ihg Hre Cubic by
X—-2:
X* =-2Zx+1|

.x Z)x-4x+5x 2__
| )( "2)(7' ';', )

v

= 2x %+ Bx
-.zxz-l- 4 X J'
—_— X -2
X -2
o

So - |
K- 4X* 5y =2 = (x=2) (x-1)°



ParHal frachons:

2x1-8  2(x+2)(x-2)
(x=2) (x=N* ) (x-2)(x=1)?
= 2(x+2)
(x~1)2
2x+ L A . B







| f:;lynomia‘ _Long

Divi sien

o Good For ir\'\-egrah‘nj
rafonal funchonc

- where
degree of +op > degree
o | beHom,
| EKamPls_ |

Bualuate: [ x*-8x°+3x%+ Ix+ dx
X2=4x+3

S‘D‘ u+f0n



x by 43 x-8x Ye3x*+qxt |
_ X TSR GEE

_qx3+0¥ + 91X :
= 4x3+16x5-12x
C =16x242IX 1
—16x%+ 64X~ 48
~-43x+49

This means: |
x“ Sx+3x +7x+l = X =bx-l14




| So!

J % -8x '+ 3x +?x+l
-4x + 3 ax

= j(x S4x-16)dX

+ j —-43x +49
- Kt=4% *+3 X
- Use ParHal Frachons for

S 43x+‘\-‘l dx -

X+ =4 x 3
-43x + 49 A ,-EB
(x=)x-5y X7 T X3

_43x+4q = A(x-3) + B (x~1)
—u43x+uq = AX-3A +BX -~ B



X2 49= -3A —B
A=-3 B =-40
Putting euery+hing tog ethes:

LY e - .




2. Ccmgl&Hng _ -Hn€

Squ.are |

@ In-‘-egrad‘e r‘a.‘HOr\a.l
FuncHons +hat resemble:

linear funchon

cluo.dra'h'c. does nof {achor

o Key formuy la!

f |_ 4x = arctan(x) +C
|+ X2 '

o Key +technique:

' ‘u=subshfution,




- Example

®

®
O,

®

" How +o Complete the

Sé‘uat‘e | |
- Cms——

| "S-lv-andf-"""
Tdea: QX + bx+C g o

manipulate \l/ .
' Vertex

Q(x-—"\)z"’k | cﬂ(m “

o ‘ Coeflofé x==l4
x"x 4 50 Half=~=% .
=49

X2=lx+ 49 - 49 + 50

——— |
(x=%)" —43 +350
(x-2)* + 1



EXa.mP |¢

3x-4
Evalu o ‘s‘x’-—lw +50 A

Solution A

| Camp’d'e Square Ia
den .\mir\a.H/‘ |

| - | BX=~4 |
fSX 4 dx =f- = dx

t.lye+50 |+ (x=-%)
et u=x-F = [ Butlt o
X = u+t /| -+ ut

3x—4 = 3u+lF , -
:J‘ 34 a4 +f_..’.?._._..dq
|+ uz [+ w2

- 2_ 'H‘U ) -+ l? ard-an(u)-(
2




=-2-_-f/\( |1+ (x=7)" ,) r ?

+ 17 archan (x-2) +C



